			Due: Sep 1		Due: Sep 1	Dı	ue: Sep 30	
	Normal	Unit	Tuition		Student		Student	
	Units	Fee	2013-14	As	ssistance Levy	Ac	tivity Fees	
	(Note 1)				(Note 3)		(Note 4)	
fter May 1, 2013	30	\$ 362.03	\$ 10,860.90	\$	100.00	\$	974.40	\$ 11,935.30
etween May 1, 2012-Apr 30, 2013	30	\$ 358.60	\$ 10,758.00	\$	100.00	\$	974.40	\$ 11,832.40
etween May 1, 2011-Apr 30, 2012	30	\$ 345.30	\$ 10,359.00	\$	100.00	\$	974.40	\$ 11,433.40
rior to May 1, 2011	30	\$ 332.56	\$ 9,976.80	\$	100.00	\$	974.40	\$ 11,051.20
fter May 1, 2012	30	\$	\$ 5,877.00		100.00			
etween May 1, 2011-Apr 30, 2012	30	\$	\$ 5,848.80	•	100.00	•	881.18	\$ 6,829.98
rior to May 1, 2011	30	\$ 194.06	\$ 5,821.80	\$	100.00	\$	881.18	\$ 6,802.98
fter May 1, 2013	33	\$ 449.93	\$ 14,847.69	\$	100.00	\$	1,053.87	

Prior to May 1, 2011	Per term	\$	10,252.00	\$	20,504.00	\$	100.00	\$	999.37	\$ 2	21,603.37
Nursing											
After May 1, 2012	30	\$	195.90	\$	5,877.00	\$	100.00	\$	931.87	\$	6,908.87
Between May 1, 2011-Apr 30, 2012	30	\$	194.96	\$	5,848.80	\$	100.00	\$	931.87	\$	6,880.67
Prior to May 1, 2011	30	\$	194.03	\$	5,820.90	\$	100.00	\$	931.87	\$	6,852.77
Advanced Standing Track	30	\$	194.03	\$	5,820.90	\$	100.00	\$	951.87	\$	6,872.77
School of Religion											
Master of Divinity/Bach of Theology (2 year	program)										
All Students	Per term	\$	2,911.66	\$	8,734.98	\$	100.00	\$	1,064.93	\$	9,899.91
Master of Div/Bach of Theology (3 year program)											
After May 1, 2012	30	\$	190.30	\$	5,709.00	\$	100.00	\$	1,064.93	\$	6,873.93
Prior to May 1, 2012	30	\$	189.40	\$	5,682.00	\$	100.00	\$	1,064.93	\$	6,846.93
Master of Theological Studies											
All Students	30	\$	217.10	\$	6,513.00	\$	100.00	\$	1,064.93	\$	7,677.93

Notes

1. Tuition for all programs (except Law and Medicine) is assessed on a per unit basis. If you enroll in more or fewer units than the normal load, your tuition will be adjusted accordingly. Engineering & Applied Science students, please see note 2.

2. Engineering and Applied Science Students are assessed on a per unit basis up to 15 units per term. The maximum per term tuition is equal to 1/2 of the tuition fee.

3. The Student Assistance Levy (SAL) is applied on a per term basis using the following charts. There is no ceiling on SAL.

Arts & Science, Commerce, Education, Nursing, Religion						
Units		Rate				
.01-3	\$	10.00				
3.1-6	\$	20.00				
6.1-9	\$	30.00				
9.1-12	\$	40.00				
12.1-15	\$	50.00				
15.1-18	\$	60.00				

Engineering and Applied Science SAL							
Units		Rate					
.01-3	\$	8.25					
3.1-6	\$	16.50					
6.1-9	\$	24.75					
9.1-12	\$	33.00					
12.1-15	\$	41.25					
15.1-18	\$	49.50					

18.1-21	\$ 70.00	\$ 57.75
21.1-24	\$ 80.00	\$ 66.00

4. Student Activity Fees (SAF) have mandatory and optional components. Please see your respective student government website for more details about SAF. The AMS website is: http://www.myams.org ; the SGPS website is: http://www.sgps.ca

Students in the following programs pay additional fees:

* Computing: Add \$15.00

6. Registration in each of MUSC P04, 120, 121, 220, 221, 320, 321, 420 or 421 incurs an additional fee of \$450.00 per course. Registration in each of MUSC 124, 224, 324 or 424 incurs an additional fee of \$1600.00 per course.

7. Registration in PACT 338 or 438 incurs an additional fee of \$400.00 per course.

8. The University Health Insurance Plan (UHIP) is applied at the single rate to all International Students. Coverage for dependent family members who will be in Canada with you is mandatory at an additional cost. Visit http://quic.queensu.ca/incoming/uhip.asp for more information.